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(ix) HTT-T & J97 §&IT 25 @ 33 & Jv7 FINTIHF FIT T TR
gy I & | Jei 7 Uk A% F1 8 | 137 7 =R [dFeql 4 &
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General Instructions :
(i)  The question paper comprises two sections, A and B. You are

59 YvT-9F 1 & 97, WAT-37 3K WFT-a 7 127 737 8 | 3791
g1 9Tt @ J & I fer@d & 1

to attempt both the sections.

(ii)  All questions are compulsory.
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(iii)  There is no choice in any of the questions.
(iv)  All questions of Section-A and all questions of Section-B are
to be attempted separately.

(v)  Question numbers 1 to 3 in Section-A are one mark questions.

These are to be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section-A are two marks

questions. These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section-A are three marks

questions. These are to be answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section-A are five marks

questions. These are to be answered in about 70 words each.

(ix)  Question numbers 25 to 33 in Section-B are multiple choice
questions based on practical skills. Each question is a one
mark question. You are to select ome most -appropriate

response out of the four provided to you.

(x)  Question numbers 34 to 36 in Section. B are two marks

questions based on practical skills. These are to be answered
in brief.

H-A
Section-A

1. 39 @HSIAE A0 o g HeRr 1 AW 3R g fafaw e am g
C,H,,_, 2l 1

Write the name and formula of the 2nd member of homologous

series having general formula C_.H, _,.

31/1/3 3 [P.T.O.
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2. Wfq-3gwa w7

What is speciation?

3. <& feferefi ok srsta - e smfiel # &1 g Heeri § =i
e =T ?
Why should biodegradable and non-biodegradable wastes be

discarded in two separate dustbins?

4. I edul gry = Tt & wfaferati & =m fafie eri i g=h samEy
List four specific characteristics of the images of the objects formed

by convex mirrors.

5. TSI TR T U e & e A e =
List two advantages associated with ‘water harvesting at the

community level.

6. & ueft 3o fAsft el & forw fafsa wrefoss gonest & 3w & s
fore TR o TR 8¢ fH-R Ifrmom snenfa W& 9w SRt
ESIEEIEN
Everyone of us can do something to reduce our personal
consumption of various natural resources. List four such activities

based on 3-R approach.

7. UIHTS W AR |18 H,S0, H 443 K T & 92 a6 e o1 a9
3 35! vt g3 forfau) 5o srfufsan @ @ig H,S0, i yfte fafa
a1 B aTelt sttt = vemafis g of i)
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Write the name and structural formula of the compound obtained

when ethanol is heated at 443 K with excess of conc. H,SO,. Also

write chemical equation for the reaction stating the role of conc.

H2804 in it.

8. frdt sfua Semxwr it wema@ & B Al il & fou smawas
gftfefal &1 Socha A gY, BTSSR JAffsmaT i saren Hifsg
qg 38 A § &9 3R & ifas qoad J g4 S aiEdd @
Ieora i Hifv) | 3

With the help of an example, explain the process of hydrogenation.
Mention the essential conditions for the reaction and state the

change in physical property with the formationof the product.

9. IFSTERUTWE : 3
+Be; oF; 10K ; S8h
T ¥ (i) 98 9 gAY e smae wiv § 0 o 2, (i) 99H
TR % 3 9 A 7 (K W& acd X (2,8,7) % A § a4 Ak il
REIRAGESERIiCId
From the following elements :

sBe; oF; 19K 5 Ca

(i) Select the element having one electron in the outermost shell.

(11) two elements of the same group.

31/1/3 5 [P.T.O.
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Write the formula of and mention the nature of the compound

formed by the union of ,,K and element X(2,8,7).

10. sgfeh srrerd FRoft F et i v ffaw) Bt smad § 9 @
aﬁtaﬁmaﬁﬁ?ﬁmaﬁwﬁmwﬁﬁﬁﬁm@wﬁaﬁw
m@ﬁm|mwﬁwﬂﬂ%aﬁwaﬁaﬁﬁﬁmaﬂt
THTY JES H, Afe ufErds 2 €, @ s seara ot ity

Write the number of periods the Modern Periodic Table has. State
the changes in valency and metallic character of elements as we
move from left to right in a period. Also‘state the changes, if any,
in the valency and atomic size of elements as we move down a

group.

11. Hﬂﬁmmﬁmﬁmﬁnﬁﬁﬁwaﬁﬁfﬁmﬁrﬁﬁﬁw
m;wﬁwﬁwmmw%maﬂtmaﬁmam
q ForT TR wifere s 27

List any four methods of contraceptions used by humans. How
does their use have a direct effect on the health and prosperity of a

family.

31/1/3 6
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12. (a) Tr=faRaa & Tm fafew
(i) Tsod o 3ufedrd g S GtEETd S S % 9 A
(i) S99 H 97T 7 o Jrell Tseed ¥ am S g & e
el W fowfaa “ggu s |
(b) TE Fifse & Ussive & “gem et @ e @A e = o
YT AT & TR §7ehT 91 &4 & | 3
(a) Name the following :

(i) Thread like non-reproductive structures present in

Rhizopus.

(ii) ‘Blobs’ that develop at the tips of the non-reproductive
threads in Rhizopus.

(b) Explain how these structures protect themselves and what is the

function of the structures released from the ‘blobs’ in Rhizopus.

13. feuu s & A, B q9m C 97T & 910 Ud 399 %1 faRau| 3

31173 7 [P.T.O.
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Name the parts A, B and C shown in the diagram and write their
functions.

14. () wAfaE, Fe, AR 3 e @t # 33 2 &1 T Th
ﬁwa@wmmsﬂﬁﬂmﬁamﬁmm
¥7? a1 I g i
(ii) “ofidt @1 fasr gl 8 g el 3@ FF I T I HE
it
(i) Planaria, insects, octopus and vertebrates all have eyes. Can we

group eyes of these animals together to establish a common

evolutionary origin ? Justify your answer.

(ii) “Birds have evolved from reptiles”. State evidence to prove the

statement.

31/1/3 8
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16.

17.

18.

31/1/3 9 [P.T.O.

15. 3urfeld weavn TR sTgafies wevi § fasen s A 3 feyarst

ATfeTeRTsrg, hITSTT | e e 1 Uh-Ta 3arew oft difsg

List in tabular form, two distinguishing features between the

acquired traits and the inherited traits with one example of each.

ye TR o died F forn ym: v @ feol o swm fen
ST & foreht gdor & wada & yvea fewd wterar § 91d B S et 2
UHt & a1 ool 9T o oraae SUv § wEdd o qvETd sl feemd
ferfiaw| 57 21 foroll =1 3w #3012 cm ®E g & 3Fdd gdu @
8 cm g T fesra et fomar 36 o g ot wfaferesy <t ety ai wpfar
1 it

To construct ray diagrams, two rays of light are generally so
chosen that it is easy to determine their directions after reflection
from a mirror. Choose two such rays and state the path / direction
of these rays after reflection from a concave mirror. Use these
two rays to find the position and nature-of the image of an
object placed at a distance of 8 em from a concave mirror of focal
length 12 cm.

ARG AT <l TETEaT § Sre shifee 5 gEiea i gaied & a9y
T ATy 1 Wdfta g 27

With the help of a labelled diagram, explain why the sun appears

reddish at the sun-rise and the sun-set.

TOETST % I ThE 79 Tt o oy gy 3 ureh | fushfre o e
ot 3= A1y geH-gmt A s it et st fesal § ¥
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=T B S w5 T g R ) - s i e

Eﬁﬁ%ﬁﬁmm@mﬁaﬁmmmmﬁﬁmﬁ

T T A I g e sk wet 3 foasd =)

Wﬁmﬁﬁ%ﬁaﬂt%ﬁfﬁmmm&%aﬁ%ﬁr@m:ﬁ

aﬁtﬂﬁ*@?ﬂ’fﬁ@?ﬁwwﬁm

(a) mﬁwﬁw@maﬁa@aﬁﬁmmﬁﬁ%ﬁuﬁﬁ
qaieo-feaet fafy 27 HI? TR E I T IUE F
forfam|

(b) mﬁaﬂwgaﬁﬁwr@ﬁﬁwmmﬁvm%m%?

After the examinations Rakesh With his friends went on a picnic to
a nearby park. All friends carried cooked food ‘packed in plastic
bags or plastic cans. After eating the food some friends collected
the leftover food and plastic bags etc and planned to dispose them
off by burning. Rakesh immediately checked them and suggested
to segregate the leftover food and peels of fruits from the plastic
materials and respectively dispose them off separately in the green

and red dustbins placed in the corner of the park.

(é) In your opinion, is burning plastic an eco-friendly method of
waste disposal? Why? State the advantage of method suggested
by Rakesh.

(b) How can we contribute in maintaining the parks and roads neat

and clean ?
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19. "I 3T 9 I A W@ T fora v ol Raffa wfifi %
qry-wre Ieet feafela gfafersr off a1 wehar 1 39 e i gf? & Rw
Y1l foptor s Wifee o g yenor | o ¥ A fars ) ety
&1 Ieoi@ ot iy

4 cm ¥ITE 1 1S forral 10 om i G % STade oF & 20 om T ™
ferd 81 <iw 5 % 3w | o g0 s A gt 1 Rty i
HIfsT| 5

“A convex lens can form a magnified erect as well as magnified

inverted image of an object placed in front of it.” Draw ray diagram
to justify this statement stating the position of the object with

respect to the lens in each case.

An object of height 4 cm is placed at a distance of 20 cm from a
concave lens of focal length 10 cm. Use lens formula to determine

the position of the image formed.

20. (a) WehIYT % UG = a9 fairay| et wrem & Fde sradars it .
ST I 371 Fafa & wermr 6 =rel & @ 369 gy ) g9
gren st fefiau)
(b) 3 ATeEEl ‘A’ 3R ‘B’ & e sradie weer 2.0 3t 1.5 ¥ afe
H1eaH ‘B’ H Yo 1 =91l 2% 108 m/s @, dl ;

(i) fafa,

(i) Hregy ‘A’

T WhTeT 1 =1ed UieRfera i) 5
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(a) State the laws of refraction of light. Explain the term absolute
refractive index of a medium and write an expression to relate it

with the speed of light in vacuum.

(b) The absolute refractive indices of two media ‘A’ and ‘B’ are 2.0
and 1.5 respectively. If the speed of light in medium ‘B’ is
2x10® m/s, calculate the speed of light in :

(1) vacuum,

(11)) medium ‘A’.

21. S BH AT 4 m g0 R Fa wmg o e i v T dw
| 7 BT o 3fe-3r & fifeq ? 3gem amfafaw) s S & wives
1 fafe i =men fifse) 33
() gfE-<ry g
(ii) 39 TEMEA
! qe1 o ferg fomor o1 i)

A student is unable to see clearly the words written on the
blackboard placed at a distance of approximately 4 m from him.
Name the defect of vision the boy is suffering from. Explain the
method of correcting this defect. Draw ray diagram for the :

(1) defect of vision and also

(i1) for its correction.

22. HH4 H1E1 594 a3 3 FR=fafaa & wrt fafau:
VST, F-SdTeenT, TIivy
U1 %1 HT o YR § TI9or foRg SehR 9TH BT 87 G897 guig hifs
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Write the functions of the following in human female reproductive

system :
Ovary, oviduct, uterus

How does the embryo get nourishment inside the mother’s body ?
Explain in brief.

AT 8 T % fohe i € ¥7 3 @ R 3 el ) Hen
27 it & R e w3 B 87

" forelt arsiTa forgy B R, W g € qu s (wran-far) # & fereht
ﬁﬁmmmqﬁwmml”mmﬁ?ﬁg@m
et sy o fom frerfor 1 wftn 1 2wl a6t w9 stivE 9 digw
Hifs

How many pairs of chromosomes are present in human beings?
Out of these how many are sex chromosomes-? How many types of

sex chromosomes are found in human beings?

“The sex of a newborn child is a matter of chance and none of the
parents may be considered responsible for it”. Draw a flow chart
showing determination of sex of a newborn to justify this

Statement.

=T hIT foh el Tera: wewrst sty g < A 51 Rt
R HT 2 FT F STl G # N s o fee s % o
TG FROT 61 Hard H A i) w9z Hife f FET 50 s
= Tedll o |y fifa strery yere w9 21y 3
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(A) =g 3R ferereft % vg

(B) =mmag 3t e % vig

(C) PR 3 firereht 3 v

(D) T4, 51 31 fesaepett 3 amrare

Four students A,B,Cand D reported the following set of organs to
be homologous. Who is correct ?

(A) Wings of a bat and a butterfly

(B) Wings of a pigeon and a bat

(C) Wings of a pigeon and a butterfly

(D) Forelimbs of COW, a duck and a lizard

31/1/3 14
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FTH @ YT F et
(A) LII, II
(B) IL III, IV
©) noLiv,v
(D) ILIV,V

A student indentified the various parts of an embryo of a gram seed
and listed them as given below :

(I) Testa

(II) Plumule

(IIT) Radicle

(IV) Cotyledon

(V) Tegman

Out of these the actual parts of the embryo are :
(A) LII, 1

(B) IL 101 1V

© nLIv,v

(D) I, IV, V

27. %mwﬁﬁqwmﬁamﬁmwﬁmmﬁgnﬁrﬁm
ﬁmmw%m%lwﬁuﬁmaﬁmmﬁ%ﬁma@m
=R - 1
(A)Wﬁr—raﬁw%ﬁa?ﬁaﬁ
(B) #ac &g 7 7 & ofry i o
(C)aﬁaﬁwasrﬁiﬁw%?aﬂaﬁqﬁ
(D)@faﬁﬁwa%aﬁ%m—wﬁwwuﬁﬁw%aﬁaaﬁgﬁ%ﬁ
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ained a point image of 3 distant o

bject using the
given convex lens. To fi

nd the focal length of the lens he should

measure the distance between the s

(A) lens and the object only

(B) lens and the screen only

(C) object and the image only

() W‘X’meﬁw%ﬁaﬁqﬂwaﬁlz cm @
(D) Ifth X 3w7er adfor & Forershl e 6t 12 om @
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Study the following diagram and select the correct statement about

the device ‘X’ :

]
¢
]
¢
Kl
]
#
]
1
¢
¢
A
¢
#
.‘
’

Y

(A) Device ‘X’ is a concave mirror of radius of curvature 12 cm
(B) Device ‘X’ is a concave mirror of focal length 6 cm
(C) Device ‘X’ is a concave mirror of focal length 12 cm

(D) Device ‘X’ is a convex mirror of focal length 12 cm

29. = % Frsw @ o Al JH st T foROT S A EiE o 9 O
B 3, 3@ H TuiT AR, YT R0 (Li), T 107 (Lr), Fid
FI (Le) a4 Fa=em i1 (£D) 3ifehd fohwt 3w gra fm =ioni =1 w&l
3ford foFam TR B, SR HIVT R :
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(A) Zi 3R sr
(B) i3 Le
(C) Zi, Ze IR 4D
(D) Zi, Zr 3R Le

After tracing the path of a ray of light through a glass prism a
student marked the angle of incidence (£i), angle of refraction (£r)
angle of emergence (Z£e) and the angle of deviation (£D) as shown

in the diagram. The correctly marked angles are :

(A) Ziand £Lr

(B) Liand ZLe

(C) 4i, Leand £D
(D) 4i, Zrand Ze

31/1/3 18
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30. IR B P, Q, R 3R S 3 #iw ¥ freft wa @ 40° F Fvr W amafg

31.

B T & TSR ATt wabreT o) foetor 3 At Y i afit srad s
1 A ot | 37k g0 ot it A w189 22°; 25° ik 30° off | e
! HE &Y HA AT BAR

(A) P

(B) Q

(C) R

(D) S

Four students P, Q, R and S traced the path of a ray of light passing
through a glass slab for an angle of incidence 40° and measured the
angle of refraction. The values as measured them were 18°; 22°;

25° and 30° respectively. The student who has performed the

experiment methodically is
(A) P

(B) Q

(C) R

D) s

ot SRl 1 T % oy R e sy T 21 R g wEw Ry
T E

() oty FaEe

(II) wrfeam gee

(1) *Hfcaam FenEs

(IV) *fcoam gothe

(V) urfiem Feinmss

(V) aifrem gotbe

31/1/3 19
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ﬁﬁqumﬁ%aﬁwﬁgﬁqm A W ST H o
T S Tl IR AT 2

(A) LILV

(B) I, IIL, V
(C) 1IIL, IV, VI
(D) IL, IV, VI

Hard water is not available for an experiment. Some salts are given
below :

(I)  Sodium chloride
(I)  Sodium sulphate
(IIT) Calcium chloride
(IV) Calcium sulphate
(V) Potassium chloride

(VI) Magnesium sulphate

Select from the following a group of these salts, each member of
which may be dissolved in water to make it hard.

(A) LI,V

(B) LIILV

(C) 1L 1V, VI

(D) 1L, IV, VI

31/1/3 20
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32. Torelt B 3 wrerfR-tfufr w1 e w9 % e e |
20% Hifea eglammss faerm sAm A so@ Faftn Fo Yau iy
MR 1
(I) faerz" 1 gam o ot foreny e g m
(1) wrfem ETggiamTse et § St oo S 2
(111) ferera & w1 sffet smet & 2 0T 321 Wt giar 2
(IV) fareram 4 gam W e forens ua are 2 ma
T Tl Jeqor €
(A) LIHARIV
(B) I, IT AR III

(C) I 3R IV FHaw
(D) 1 3R II e

A student prepared 20% sodium hydroxide solution in a beaker to
study saponification reaction. Some observations related to this are

given below :
(I) Sodium hydroxide solution turns red litmus blue
(IT) Sodium hydroxide readily dissolves in water

(IIT) The beaker containing solution appears cold when touched from

outside

(IV) The blue litmus paper turns red when dipped into the solution

31/1/3 21 [P.T0.
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The correct observations are :
(A) L I1and IV

(B) L, II and IIT

(C) only Il and IV

(D) onlyIandII

IS B TF TEA § 2 mL A Sl Aot 380 2 mL TR ana
fiemar 21 o T 9' W Mg @ welivify e =
o fo1q 7@ a1 3| @ 5 e & avema 98 e S 9T 9T @ geae
:

(A) T T qreyl TEH faeea

(B) T Ta=s qraH e faaaa

(C) I3 AT S qeft W3 &1 2

(D) UHifeeh 3ee il It U STt shl

A student adds 2 mL of acetic acid to a test tube containing 2 mL
of distilled water. He then shakes the test tube well and leaves it to
settle for some time. After about 5 minutes he observes that in the

test tube there is :

(A) aclear transparent colourless solution
(B) aclear transparent pink solution
(C) a precipitate settling at the bottom of the test tube

(D) alayer of water over the layer of acetic acid

31/1/3 22
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34. 399 O % O H qE T forg B for gl & afedt w0 W

wfferst i & forw s wftards €1 2, 18 o o @ w6 g w

ferelt smrefret forear 1 98 Wt ftenr sfferar o =t 21 305 vwuTe 7

#R-oR 3 forr Y g it 3l o R i W AR wifE # w w

Bl T 2

(a) T ! BIshd Hid GHY 34 T F! f6G 3 WFET 81 2 - g
T A o ofF | 7

(b) U< T a1 wfcferss o1 |1gs Heal €, 37eaT sgar £7

(c) fors =1 & o wga fee & ST o T e 27

To find the image-distance for varying ebject-distances in case of a
convex lens, a student obtains on a screen a sharp image of a bright
object placed very far from the lens. After that he gradually moves
the object towards the lens and each time focuses its image of the

screen.

(a) In which direction — towards or away from the lens, does he

move the screen to focus the object?

(b) What happens to the size of image — does it increase or

decrease?

(c) What happen when he moves the object very close to the lens?

31/1/3 23 [P.T.O.
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35. 39 3 Jai 1 g sEe 9 o 38 W wd ¥, 9 A fRe

qrETelt § UHifew TRt ARt 3HH T el HifeTH TG HEie
i 81 21 areht arfifen = ramais arfie fofay|

List two observations which you make when you add a pinch of
sodium hydrogen carbonate to acetic acid in a test tube. Write

chemical equation for the reaction that occurs.

36, 3G fF SHA I T FEd & EH UH S ISR ¥ & Fald
FRTERTE St & 37T S SRR 1 SfEica THTH B STaT 27 $9 Yol
¥ I F TRel 3 AW w0 % fo difen) A s, e afteeT #

1Y A BIaT 27

Name the type of asexual reproduction inwwhich two individuals
are formed from a single parent and the parental identity is lost.
Draw the initial and the final stages of this type of reproduction.

State the event with which this reproduction starts.

31/1/3 24
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Strictly Confidential- (For Internal and Restricted Use Only) Secondary School Examination
SUMMATIVE ASSESSMENT - Il
March 2015

Marking Scheme - Science (Delhi) 31/1/3

10.

11.

The Marking Scheme provides general guidelines to reduce subjectivity in the marking. It carries
only suggested value points for the answer. These are only guidelines and do not constitute the

complete answer. Any other individual response with suitable justification should also be

accepted even if there is no reference to the text.

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be
done according to one's own interpretation or any other consideration. Marking Scheme should

be strictly adhered to and religiously followed.

If a question has parts, please award marks in the right hand side for each part. Marks awarded

for different parts of the question should then be totalled up and written in the left hand margin.

If a question does not have any parts, marks be awarded in the left hand side margin.

If a candidate has attempted an extra question, marks obtained in the question attempted first

should be retained and the other answer should be scored out.

Wherever only two/three of a 'given' number of examples/factors/points are expected only the
first two/three or expected number should be read. The rest are irrelevant and should not be

examined.

There should be no effort at 'moderation’ of the marks by the evaluating teachers. The actual

total marks obtained by the candidate may be of no concern of the evaluators.

All the Head Examiners / Examiners are instructed that while evaluating the answer scripts, if the
answer is found to be totally incorrect, the (X) should be marked on the incorrect answer and

awarded ‘0’ marks.

% mark may be deducted if a candidate either does not write units or writes wrong units in the

final answer of a numerical problem.

A full scale of mark 0 to 100 has to be used. Please do not hesitate to award full marks if the

answer deserves it.

As per orders of the Hon’ble Supreme Court the candidates would now be permitted to obtain

photocopy of the Answer Book on request on payment of the prescribed fee. All Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out strictly

as per value points given in the marking scheme.
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MARKING SCHEME Code No. 31/1/3

CLASS X — DELHI

Expected Answer/ Value point Marks | Total
SECTION - A
Ql. | e Propyne 7
° C3H4 P 1
Q2. | Formation of new species from the pre-existing population 1 1
Q3. | So that the time and energy required in segregation may be saved and
waste may be disposed off quickly
Or any other 1 1
Q4. |i) Virtual
i1) Erect
ii1) Diminished
iv) Object distance more than image distance Yo x 4 2
Q5. | Two advantages:
(1) Recharges ground water
(i1) Mitigates floods and droughts
(ii1) Brings rivers and wells back to life and makes more water available
(any two) 1,1 2
Q6. | Four activities:
1) Reduce excessive use of natural resources like water, fossil fuels,
etc..
i1) Reuse of some resources instead of wasting (throwing) them, like
empty bottles.
iii) Recycle the materials like paper to reduce the pressure on
existing natural resources.
iv) Changes in lifestyle, personal attitudes and practices.
(or any other) | Y2 x 4 2
Q7. Ethene H H Va, Vo
\ /
Cc=C
/ \
H H
Conc. H,SOq4
C,HsOH » C,Hy + H,O 1
443 K
Conc. H,SOy acts as a dehydrating agent. 1 3
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Q8. | e Example H }li

R R
C

' At hemd |
Nlhkelflaﬂ R-C—C-R

' 3 ol
R R R R

e Addition of hydrogen to the molecule of an unsaturated hydrocarbon

V2

/compounds is hydrogenation. iz
e Essential condition for hydrogenation is the presence of a catalyst
like Ni/Pd / Pt. 1

e Change observed in the physical property during hydrogenation is
the change of the unsaturated compound from the liquid state to the
corresponding saturated compound in the solid state / its boiling or
melting point will increase. 1 3

Q9. | (i) K/ Potassium.

(i) Beand Ca. 1

e KX orKCl Y

¢ lonic / Electrovalent. Y 3
Q10. | No. of periods : 7 )

Valency across a period increases from 1 to 4 , then decreases from 4 to

ZETO. 1

Metallic character of elements across a period decreases. )

Valency down a group remains the same. )

Atomic size of elements down a group increases. ) 3

QI1 | e Four methods —
(i)  Mechanical or barrier method OR Male or female condoms
(i)  Use of hormonal preparations- OR Oral Pills / i-pill / Saheli
(iii)  Use of loop or copper T OR TUCD
(iv)  Surgical method OR tubectomy / vasectomy
ax4
e Effect on health & prosperity:
(1) Health of women is maintained
(i)  Parents can give more attention to children
(iil)  More resources can be made available.
(any two) Vo %2 3

Q12. | a) (i) Hyphae / mycelium vz
(i1) Sporangia Y
b) Structures protected by thick walls. 1
Function: - They germinate into new individuals under favourable 1 3
conditions.
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Q13. | A — Stigma — receives pollen grains. 1

B — Pollen tube — carries male gamete 1

C — Female germ cell / egg — formation of zygote 1 3
Ql4. | (1) No, the structure of the eye in each of the organisms is different. Ya, Yo

(i) e Fossils of certain dinosaurs / reptiles show imprints of feathers
along with their bones but they could not fly presumably using

the feathers for insulation; 1

e Later they developed / evolved and adapted feathers for flight,

thus becoming the ancestors of present day birds. (OR any

other suitable evidence/example) 1 3

Q15. Acquired Traits Inherited Traits

(1) Does not bring about change in (i) Brings about change in the DNA
the DNA of the germ cell. of the germ cell.
(i) Cannot be passed on to the (ii) Can be passed on to the
progeny. progeny.
(ii1) Cannot direct evolution. (111) Can direct evolution.

(any two) 1,1
Examples: Acquiring knowledge, Examples: Skin colour, colour of
loss of weight or any other the eye or any other example.
example “2x2 |3

Q16. | The candidate may choose any two of the following rays:

1) A ray parallel to the principal axis, after reflection, will pass through
the principal focus of a concave mirror.

il) A ray passing through the principal focus of a concave mirror after
reflection will emerge parallel to the principal axis.

iil) A ray passing through the centre of curvature of a concave mirror
after reflection is reflected back along the same path.

iv) A ray incident obliquely to the principal axis towards the pole of a
concave mirror is reflected obliquely, making equal angles with the
principal axis.

(any two) | 1 x2
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Q17.
et
Elue T 1 i hlue
I%uu j.lﬁu 5@\ =
1
e Light from the Sun near the horizon passes through thicker layers of
air and longer distance 1
e Most of the blue light and shorter wavelengths of sunlight are
scattered away by the particles. Light of larger wavelength reaches us
giving the reddish appearance 1 3
Q18. | (a) No, it pollutes air. Y2, 2
Advantage:
Segregation of wastes into biodegradable and non biodegradable wastes 1
at the initial stage of disposal saves time and energy.
(b) By putting wastes in proper dustbins 1
Or any other 3
QI9. | e For magnified erect image — Object is between the optical centre 72
and principal focus of a convex lens
%
f" iz, {Tﬂ
: -'*:l tﬁ“&hj 2F,
mo2¥ FB |‘|L““~ -H'%H;;
g v ‘\\& '
—
% 1
e For magnified inverted image — object between F and 2F of a 72
convex lens
M
A,
T\I\II
c 'ul F 2F. I
aF, :
1
[ ] u= y = ?
1
f vV u A
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1 1 1
—_— =4 —
v f u
1 1 1
= +
v (+10) (-20) v
111 _+2-1 41
v 10 20 20 20
v =420 cm 1 5
Q20. [ a) Statement of laws of Refraction of light (two laws) 1x2
When a ray of light travels from vacuum or air into a given medium
then ratio of sin 1 to sin r is called absolute refractive index of the
medium. Y
Absolute refractive index = Speed Of_ hgh‘t n Vacul%m
Speed of light in the medium Y
b) n,=20; ng, =15 v, =2x10° m/s
i) c
Ny =—
Vg vz
c=nyv, =1.5x2.10°m/s = 3x10° m/s v
i) n, = <
V4
1 8
y, =& 3OS 108 s
ny 1 5
Q21. Defect — Myopia / Nearsightedness 1
Correction — By using a concave lens of suitable power 1
i) Eye lens
Featma
]1I'|.|;._:;,' 5
formed it
L
I|'I || 'I L froak of
» |II l ]I_ > relia
> Vi
Light rays conung U
From distamt object
T~ 1%
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11) Eve benis

Retina

! lmage 15
* ‘] ] — formed on
e | |Il = rerlamn
" T i
-
Coming
from Infinir
Concave lens 1% 5
Q22. | e Functions: -
Ovary: (i) Production of female hormone / oestrogen and 72
progesterone. Va
(i1) Production of female gamete / egg /germ cell. 72
Oviduct : (i) Transfer of female gamete from the ovary. Y
(i1) Site of fertilization. Va
Uterus: (1) Implantation of Zygote / embryo. vz
(i1) Nourishment of developing embryo.
e Placenta is a special disc like tissue embedded in the mother’s
uterine wall and connected to the foetus / embryo. 1
e Placenta provides a large surface area for glucose and oxygen/
nutrients to pass from the mother’s blood to the embryo/ foetus. 1 5
Q23. | e 23 pairs of chromosomes 1
¢ One pair, two types Y,
e Flow chart
iz
(EEI s
Parents f:ﬂ:"":- [
%
\ yz
s ) >
A :,i..-
, e iz
£ Q)
g7 P
e § [}
“lW us
Famzia “Waka
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e Justification: Women produce only one type of ovum / (carrying X
chromosome) and males produce two types of sperms (carrying
either X or Y chromosome) in equal proportions. So the sex of a
child is a matter of chance depending upon the type of sperm
fertilizing the ovum. 1
Q24. | o Carbon has 4 electrons in its outermost shell, and needs to gain or
lose 4 electrons to attain noble gas configuration. 1
e Losing or gaining 4 electrons is not possible due to energy
considerations; hence it shares electrons to form covalent bonds. 1
Two reasons for large number of carbon compounds :
e (Catenation: The unique ability of carbon to form bonds with other
atoms of carbon giving rise to long chains of different types of
compounds. 1
e Tetravalency : Since carbon has a valency of 4, it is capable of
bonding with four other atoms of carbon or atoms of elements like
oxygen, hydrogen, nitrogen, sulphur, chlorine, etc. 1
The reason for the formation of strong bonds by carbon is its small size
which enables the nucleus to hold on to the shared pairs of electrons
strongly. 1
SECTION - B
25)D 26) B 27)B
28) C 29) B 30) C
3 C 32) D 33) A 1x9
Q34. | (a) Away from the lens v
(b) Increases YVa
(c) No image on the screen 1
Q35. | e Brisk effervescence Y
e Evolution of'a colorless gas. )
NaHCO; + CH;COOH —6&H;COONa + H,O + CO, 1
Q36. | Binary Fission A
Initial Stage E{@‘ Final Stage
Y2, V2
Elongation of Nucleus Va
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